
Scenario 4:  The Case of the Mysterious HIV Algorithm Results 

Materials and Directions: 
• ASPIRE Follow-Up Algorithm 
• COBAS® AmpliPrep/COBAS® TaqMan® HIV-1 Test  Error Codes Appendix 
• Scenarios:  Read and complete each part separately.  The next part will be given 

to you once the previous part has been completed. 
 

Part 1: 

An ASPIRE participant comes in for her monthly visit, and the technologist performs 2 
rapid tests as part of HIV testing.  Determine came out to be POSITIVE and Unigold 
came out to be NEGATIVE.  To follow the HIV algorithm, the participant then sent a vial 
of plasma to the site’s Central Lab to be tested for Western blot. 

The technician from the Central Lab came in with these Western blot results: 

Figure 1.  Western blot results from Central Lab for Participant with Discordant Rapids 

Western blot strips: 

1 = negative control 
2 = low positive control 
3 = high positive control 
4 = Participant X 
5 = Our participant we are interested in 
6 = Participant Y 
7 = Participant Z 
 

 

 

 

 

 

 

Question:  Based on the Western blot test results, is the participant HIV positive?  
Why or why not?  What is the test result?  What should be done next? 



Part 2: 

The technician decides to send the sample to the site’s Central Lab for HIV-1 RNA (viral 
load) testing.  This site uses the Roche TaqMan machine.  All of the controls perform 
according to the package insert and testing guidelines, but the participant whose 
sample tested indeterminate for Western blot (hereafter referred to as Sample 1) has an 
INVALID result with the flag of PRECHECK.  See Figure 1. 

Figure 1.  Sample 1 Roche TaqMan Test Results 

 

The technician first pulls up the raw data for Sample 1 and for another participant’s 
sample that did not have an error code (Sample 2).  This is what the technician finds: 
 
Figure 2.  Sample 1 Detailed Results 
 

 



Figure 3.  Results from another participant whose viral load did not fail testing. 

 

 
QUESTIONS:  Do the result details and the error code table give an indication of 
what might have happened? (view valid sample as comparison) 
 
What should the technician do to resolve this issue?  Should he report the 
problem to his supervisor or just repeat the sample?  Who could he contact for 
assistance? 
  



Part 3: 
 
The technician decided to re-run the sample using a VQA-approved dilution of 1:20.  
The result came out to be 761,848 copies/ml.   
 
What diluent did the technician use in order to perform the dilution according to 
VQA guidelines? 
What was the problem in the last run? 
What is the actual viral load result for this participant? 
 
Unfortunately, although the error code for Sample 1 now disappeared, the technician 
noticed another problem with the viral load run.  See Figure 4: 
 
Figure 4: 

 
 
What is the new problem?  Is this run valid?  What should be done next?  Can the 
results from this run be reported out? 
 


